Bowling Quiz 2






Name: ____________________________
NO CALCULATOR

1. Chelsea’s cell phone plan charges her 5 cents per text plus a monthly fee of 30 dollars.  How many texts did she make last month if her cell phone bill was $40?
2. Kirsten gets a 20 dollar bill each time she babysits and a 5 dollar bill each time she mows the lawn.  She wants to know what combinations of these bills could add up to $85 for a new bicycle.

• Let x equal the number of 5 dollar bills


• Let y equal the number of 20 dollar bills

What is the domain where y is a function of x and the total value is $85?

     a. {1,3,5,7,9,11,15,17}



b. {0,1,5,9,13,17}

     c. {1,5,9,13,17}




d. {0,1,2,3,4}
3. A school group sells gift cards and gift wrap for a fundraiser.

20 cards and 40 gift wraps sell for $160

10 cards and 30 gift wrap sell for $110

   How much does each gift wrap cost?
4. Which of the following is equal to:  x2 – 4x – 21

     a. (x – 1)(x + 21)

 b. (x + 1)(x – 21)

c. (x + 3)(x – 7)

d. (x + 7)(x – 3)
5. Simplify (2x – 5)(x + 3)

     a. 2x2 + 11x – 15 
b. 2x2 + x – 2 

c. 2x2 – 11x + 15 

d. 2x2 + x – 15 

6.  The function f(t) = -5t2 + 20t + 60 models the approximate height of an object t seconds after it is launched. How many seconds does it take the object to hit the ground?
CALCULATOR ACTIVE
7. The Student Council sponsored a talent show to raise money. They charged $5 admission for each adult and $2 for each student. A total of 248 people attend the show and they made $715. How many students attended the talent show?
8. Ms. Smith created a box plot from her students’ test scores as shown below:
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Between what two values can the top 25% of the test scores be found?

     a. 86 and 100

    b. 86 and 93

    c. 76 and 100

     d. 93 and 100
9. Solve for w: x = y(w + z)

     a. 
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10. Which situation is correctly modeled by the graph below?
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   a. The number of pounds of pecans, y, minus the number of walnuts, x, is at least 8 pounds.

   b. The number of pounds of pecans, y, minus the number of walnuts, x, is at most 8 pounds.

   c. The number of pounds of pecans, y, plus the number of walnuts, x, is at least 8 pounds.

   d. The number of pounds of pecans, y, plus the number of walnuts, x, is at most 8 pounds.
11. There were originally 10 bushes in the nursery.  Each year, the Mitchells planted the same number of trees.  In the 18th year, there were 280 bushes.  Which function b(n) can be used to determine the number of bushes in the nursery in any particular year?

   a. b(n) = 15n + 10
b. b(n) = 18n - 10

c. b(n) = 280/18n + 10
  d. b(n) = 18n + 10
12. The equation of the graph of line N is 6x – 3y = 7.  Which could be the equation of a line M that is parallel to line N?

a.
y = 2x – 1.6

b. y = -2x – 4

c. y = 1/23x – 4

d. y = 1/2x + 4
13. The value of an antique toy car is modeled by the function V(t)= 150(1.004)t where t is the number of years since 1965. Approximately what percentage rate is the value of the radio increasing each year?

     a) .10%


b) .20%


c) .30%


d) .40%
14. The volume of a sphere is 400 cubic inches. What is the approximate diameter of the sphere? (V = 4/3 πr3)

     a. 4.6 in


b. 9.1 in


c. 9.8 in


d. 19.5 in
15. Suppose that the function V = 40x2 – 500x + 5000 describes the value of a car from 1960 to 2012. What year did the car have the least value? (x = 0 is 1960)

     a. 1965


b. 1966


c. 1967


d. 1968
16. The number of students who attended a school dance are shown in the table below.
	
	9th grade
	10th grade
	11th grade
	12th grade

	Males
	43
	67
	79
	86

	Females
	51
	75
	71
	84


Approximately what percent of the female students who attended the dance were in the 12th grade?

     a.15%


b. 30%


c. 43%


d. 49%
17. The table below shows the number of hours a student watches television and the student’s grade in math.
	Hours of Television
	5
	7
	10
	8
	7.5
	4
	5
	8
	9
	11

	Math Grade
	92
	87
	61
	75
	84
	93
	91
	87
	84
	67


Which best describes the correlation between hours of television and math grade?
     a. Strong positive
b. Strong negative 
c. Weak positive

d. Weak negative
18. The function P(t) = 1001.05)x models the population P (in thousands) of a city from 1992 to 2004, where t = 0 represents the year 1992. If the growth rate remains the same, about how many people does the model predict will live in the city in 2010?

     a. 265,000

b. 241,000


c. 200,000


d. 2,190,000
19. X is the midpoint of line segment WZ. Y is the midpoint of line segment XZ. W is located at (12, 8) and Z is at (0, -4). What are the coordinates of Y?
20. Find the volume of the cone: V = 1/3 πr2h
[image: image7.png]



_1576401220.unknown

_1576401221.unknown

_1576401222.unknown

_1576401219.unknown

